Warm Up 3/19/19

COPY DOWN THE PROBLEMS
1. Sandy palor@atﬁl‘t am@ child tickets to a play.

Kira paid 544 for 1 adilt an@c@d tickets to the same
play. WhatTs the cost of gldl‘ut and‘& éhlld ticket?
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2 . What is the solution for the following system of equations?
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A. 2x + 5y > -5
B. 2x-5y<5
C.x+2y>-2
D. 5x-2y<2

X+y=22
X+4v<8
x-y=z2-2
. X-4y<-8
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SYSTEMS OF INEQUALITIES

A system of inequalities is two or more linear inequalities.

The solution to a system of inequalities is memgﬁ_\g

of points that satisfies both inequalities
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8. 8y > -10x + 24

y&$2

¢

-1€Jﬂ'l'ﬂ

gﬁbusﬁlﬁm-

10.5x + 2y =2 4
X + 4y < -28
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